-20

/x

500m 800m

800m




2010 2020 2050

AR Mewoman v Sermings (000 Otles ax Suntahnabie Soouestoms, INLARD PRESS® ST il

20



2010 2020 2050

_ -34 36 51

-27

Have a break!

21



2050
63 75
79 /ha 85 /ha
~61 42 25
1
0.6
800 162
17 2050 200
2
g 3
! 1
: O i
! '
i :
! '
5 i
: !
i :
! '
5 i
: !
i :
! '
5 i
N 1
( )
1000
15 1 69 s, Jas 229989 Sa 5E94B9T0-
900 785 g 184785 m o | Baas Zaadiadied
. 500 800 Mlrog mr e W
0 0 o0 = 56,6 59955 900768.4°>
50% - 60% :Z-Z 417 |a5.546648248.7a7 903 A 4827 »
= 1000 wo | Naag A
70% -90 800 —8—1000
200
100
00
\‘5@' \9& \?’qb‘ @cg: \gqb \&I\ \f’q% «5”& w°§ w°°~m°°%'\9°% 19& '1963 ’L“Db "96\

22



T

N

R

p—

11%
21 30%UP

56 60%

5%UP

24%

%

44 47%

)

C,\x,\x‘n,\\.
o | " 2" M
2 AV
L B ¥
7S Eh

/////

.

1
p
T

N\

\
)

i

_\T;

£ e

23



25

20

30 passssssas

15

1.0

Co,

05
50

60 70 80 90 100 110 120 130 140 150

25

30 —pEssmsssm

15

1.0

05
0.00

(2005 ) (2005 )
. ')

24



25



500m
800m

L]
L L L TE 4L
L

N fomAoiE
B =i

P

26



2010 2020 2050

27



2010 2020 2050

28



2010 2020 2050




2010 2020 2050

30



2050
25 40
_______________________________________________ 4 | s
24 31
62 36

2005

2050

7 7
142222 21 /:;Z% /

46

19

<——>

7

J

31



2050

I R R N
1947 60 65 70 75 80 85 90 95 2000 05
1947
* 5
5
1947 1950 1960 1970 1980 1990 2000 2006

I 143 | 146 | 153 | 148 | 151 | 159 163 | 163

0.3 1.0 05 0.8 16 2.0 2.0
I 153 | 156 | 160 | 152 155 | 160, 165 164

0.3 0.7 -0.1 0.2 0.7 1.2 1.1

0.3 0.5 0.6 0.9 0.8 0.9
______________________________________________________ |
1
1
1947 :
1
1
1
1
1
1
1994 !
1




* 35

2 ITS 3

- 36
*4 *5

*6

IMTS 10

ITS Intelligent Transport Systems

Mobility Management

33



2010 2020 2050

2010 2020 2050

w



S s v—h—
BRANASE—G— P BAX—2

RUNATIIETL SRS @;% :
\\&n:m{&ﬁm-%xm Jj &4 i\‘i-‘/‘f”@

7

i R

;R
NAA—ZFIL

ELAhbELEY /

A /f

. I .
B .I |
|
" I . !
. | | g ,
- - v g
c |
. | .
o *l :_.
: |
|

35




2010 2020

ITS

2050

.7
(2.31)

CNG

(1.0)

1.0
Well-to-Wheel

36

(3.75)

(2.44)



ICT

2050
42 25

) 2001

L

|
=TT}

|

sl

o L
s -
L ooe—
20 [ =]
E=f 5t = B
e (=25 ?M il i |
) = G oy I
- el P
C\‘



( 2,000 )

... __

100 200

Have a break!

38





